Unit 4 Assignment Graded Problem Set
The digital textbook can be a little complicated to read the correct problems.
We have created this reference to help!
· Section 2.1, pages 70–71, problems 8, 11, 17.
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· Section 2.2, pages 81–82, problems 8, 14, 33, 40, 44.
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Description automatically generated]
· Section 2.3, page 88, problem 6.
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· Section 2.4, pages 96–97, problems 3, 18, 23.
[image: ]
[image: ]
[image: ]

image6.tmp
33. Prove that m® + 2n® = 36 has no solution in positive integers.
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40. Use proof by cases to prove that sgn(zy) = sgn(z) sgn(y) for all real numbers x and y (sgn is defined in
Exercise 39)
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39. Define the sign of the real number x, sgn(x), as

1 ifz>0
sgu(@)={ 0 ifz=0
—1 ifz <0.

Use proof by cases to prove that |z| = sgn(z)z for every real number x.
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44. Use proof by cases to prove that

zT+y—
2

min{z, y} =

for all real numbers x and .
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31 +22+---+nn!)=(n+1)! -1
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18. (14+2)" >1+na,forz > —-landn >1
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23. 11" — 6 is divisible by 5, forall n > 1.
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8. Prove that for all integers m and n, if m and n are odd, then m + n is even.
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11. Prove that for all integers m and n, if m is odd and n is even, then mn is even.
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17. Prove that the product of two integers, one of the form 3k, + 2 and the other of the form 3k + 2, where
k1 and k, are integers, is of the form 3k -+ 1 for some integer ks
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8. Prove that for all z,y € R, if xis rational and y is irrational, then = + y is irrational
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14. Prove or disprove: There exist rational numbers a and b such that o is irrational. What kind of proof did you
give?




